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FIELD SURVEYOR, DRAFTSMAN AND SURVEYOR-CUM-ASSISTANT
DRAUGHTSMAN IN TAMIL NADU SURVEY AND LAND RECORDS SUBORDINATE
SERVICE & TAMIL NADU TOWN AND COUNTRY PLANNING - 6/11/2022

1. Foreign accounts called Muziri as the “First Emporium of India”.
a. Natural History b. Geography
c. The Periplus of the Erythrean sea. d. Buddhist chronicles
e. Answer not known
wdlemw ‘@haHwmaler (wHeo GuImsty” eaipl Fapid GCeuefBTL (B HIT6eL SSLD.
a. BUBeNd eITeOTH b. yeluluwed
c. emfidAfwer &6l Gufiliemerd d. uss uFsen

e. alewL G flwealsdenso

2. Pick out the wrong pair:

a. V.O. Chidambaram -September 5, 1872
b. Subramaniya bharathiyar -December 11, 1881
c. C.Rajaji - December 10, 1878
d. K.Kamarajar - July 15, 1903

e. Answer not known
FHouprer Semenuienldh BHTe| OCFuIs:

a. au.e_.dg Ly - GF0Lbur 5, 1872

b. st lyweniuw umyguamt - 19&buT 11, 1881

c. d.@yremred - ggwur 10, 1878

d. smogmegt - sremev 15, 1903

e. alemL Oz flwalsvemso

3. Assertion (A): Through the letter correspondence Velunachiyar asked 5000

infantry and 5000 cavalry strength to Hyder Ali.

Reason (R): Velunachiyar conveyed her strong determination to fight the
English.

a. Both A and R are correct, but R is not the correct explanation of A.

b. Both A and R are wrong.

c. Both A and R are correct and R is the correct explanation of A

d. A is wrong and R is correct

e. Answer not known

amp A Gougy BIFFWNT mamsHT SeduiLd 5000 STeOTL LML BEHD, 5000 GHH Ll
LeDLS@HD SIILILID LIy H9HLD 6T(LDSHIGIIT.

amgenid R: Geugyl mrafwn symsGeowiCrm®h Gurgieudlsyd Halywrs SmLLmSHS
CpefleyuBSHae.

a. ampm A oppb sgewid R @uewiy  gfl  eaeflaud smyeoid R speop A gfwrs

allendHaleLemev.
b. &sBm A Byl stmeid R gudlu @rewiGGL  seuprearemnel
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AppE® L0
c. smpm A wBmb smewd R @rewi  gfl  smgewid R g@meos A sflunsBe
allenssaleLenev.
d. sBp A sapteig. smyewib R sfwreas

e. alwL Oxfwealedenev.

4. Name the Committee appointed by the British Government to enquire about the
Jallianwala Bagh Massacre.

a. Dar Committee b. Hunter Committee c. Rai Committee
d. Simon Committee e. Answer not known
somelweiieuTeoTUTd LGesTener uBm elgmiss Uflyead opsmmhsd HuwsHs Gupeler GuwIT
a. &M G b. ame&iLiT @ C. JTul G
d. ewgwen &p e. alwL OxpMwalebensv.
5. Which two districts of Tamil Nadu are frequently affected by cyclonic storms?
a. Theni and Madurai b. Nagapattinam and Cuddalore
c. Villupuram and Perambalur d. Kancheepuram and Ramanathapuram

e. Answer not known

SOID BT I1g6T 61hs @EJewi(h LOTeUL L RIG6T Sgdhdly LWeVaITed LT aaLILIH S enment?
a. Coal BB LFHIEDT b. BTSIULIQeND DBHBID &L eUTT

C. allpliyyd wBmId CUFLbLIGITT d. srehdlyd WwHBEID SFTOETHLTD

e. alemL OFfluaisvensv.

6.  Arrange the following Events in Chronological order
1. Navajawan Bharat Sabha
2. Bhagat Singh joined Hindustan socialist Republican Association
3. Bhagat Singh hanged in Lahore Jail
4. Bhagat Singh and B.K. Dutt thrown bomb in the Legislative Assembly Hall
a.1,34,2 b.2,14,3 c.3,14,2
d.43,2,1 e. Answer not known
&6 CaTHHBILL (BeTeneuBens HT60 auflenaF ILIBSHSHIS.
1. Beuggeumedl LMY& &um
2. @paleosTear Camadwels Guwirs Semwliiled usSHAB CFIHSTT.
3. usHFm euTanT Flenpulled HTdaSedL LI L.
4. uasHIRGL 1.085.55HID WHHW FULIGBSHH6 05 GG aidlermiTser.

a.1,3,4,2 b.2,14,3 c.3,14,2
d.4,3,2,1 e. alewL QFflwaledenev.
7. 'Al-Hilal’ a weekly newspaper was started by
a. Mohammad Ali Jinnah b. Rahmat Ali c. Muhammad Igbal
d. Abdul Kalam Azad e. Answer not known
‘Ol anflevmed’ eTIB GUMTY QFUIHHBHTEmET QUTLDLNSHHEUT SLEUMIT.
a. (Wagh D60 et b. y&ws 960 C. (P3G BHLT60
d. sevsemd SLFTH e. alenL Gafuwealsdemnsv.

8. Match the following:
Rural welfare policy during plan periods

A. Bharat Nirman 1. X plan
B. Ensuring basic needs for rural poor 2. XI plan
C. Providing new wage earning revenues to rural poor 3. IX plan
D. Creating new infrastructure in rural areas 4. VIII plan

A B C D
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10.

11.

12.

W NP
RN
N =

W W

1 2

. Answer not known.

LetTeu(heuesTeuBenmLl  OILIM(HHHIsb:

FHLL BTVHH6L 2aTH HeVdH CBTETENDHBH6I

A. ungg FBlitomet 1. X gL
B. eaps genpseien oglienL GxHemeusmen o mig GFuizHed 2. XI &b
C. 2078 gmWaEhdGI UHw 2adHuid GUBID aublsmen &idhE@dHe 3. IX &L
D. eayall ugdHsefled AW 2 61d U LML UMBHMENT 2 (HaUThEH6e0 4. VIII S b
A B C D

°oop g

a. 1 2 3 4

b. 2 4 1 3

C. 4 1 2 3

d. 3 1 2 4

e. alenL  Oxfluwailsoensv

The taxes on properties are collected by

a. Central Government b. State Government
c. Central and State Government d. Local governments

e. Answer not known

CETHHSHEHIHTeT 6ufl AbHAWTale0 WMTTL 6UEelSSILBSBHI?

a. enDUl SIJ& b. wmHev oI C. eDOW LOBMID LOTH6V SIJ&
d. 2 eemm f oy e. alewL G flwelsdenev.

The tax revenue from lotteries organized by the Union Government or the State
Government goes to

a. Central Government b. State Government

c. Both State and Central Government d. None of the above

e. Answer not known

WHHU DITFT60 DIGL6VG LOMHIL SPFFTEL DIMWSSIUL L 60Tl LAl FL(BH6IT cpsvld SHlewL d@GHLD
aufl eu@HeuTUl WMHdBGHF OlFeoeuId?

a. @@l 9IFHHE b. e oHHS

C. GHHUI WOBHBID THEY DIT&HDHES d. GuBseni gD E60en6v

e. alewL GFMwealedensv

Which of the following are the economic problems of poverty?

I. Increasing unemployment II. Technological Development
III.Capital deficiency IV. Inadequate economic Development
a.l, Il and III b.1I, IIIl and IV c LIl and IV
d.LITand IV e. Answer not known

LetTeu(pLIema  eumIenLouest QUITHeMTHTY  LIJ&FFenenm@GLD.

[. o1sfsEn Beauamsvulaiento II. QzmpeomI L alenTFd

III. ewpsugenll LBBTDHEGHMB IV. Gurdw QummentaTy eueniTé&dlullerento

a. I, IT @b I b. IL, T w@pp IV c. LIIT wppip IV
d. LIl wpmio IV e. alenL Gz flwalsdensv

The country which hosts the BRICS meet for the year 2022 is

a. Brazil b. Russia c. India

d. China e. Answer not known
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2022 b spewngmsTenr BRICS omprlent. BLGSHID BTlH LG ID.
a. 1Grglev b. @reajwmr C. @hdHwr
d. e e. alowL GaMuwealsdemev.

13.  Identify the personality:
He played a pivotal role in spreading rational ideas and scientific perception into
politics of Tamil nadu. He worked for the welfare of farmers, workers and spread
socialist thinking into politics. He was appointed as a member of the Indian National

Congress.
a. J.C.Kumarappa b. E.V.R. Periyar c. Singaravelar
d. Maraimalai Adigal e. Answer not known

DLEHDLOMW  (BLIGD]T) SINLWITEINTD  &HT6wI:

Baim HOPs SIFed BUSEHHHD LUGHBHB6Y SHHHIHH6T BBID SPaluicd UTTeneUsHme6r
gpLUBSHweuT:  alleugmulser BEID OCHTHe0TeNTHeN  [HeLeISHTS LUTGULLT:  ShaHw
SIrFweled FOHTD &hHGHHISHemenl UFiiwelT: @phHw CHdlw stmsgeder o mileamrsean

BWLOSSILL L 6Uf.
a. Qm.4. @wyrm b. w.Gauy. c. AmsmyGaueur
d. wemBLmey SiIgHENTIT e. alewL OxpMwaledenso
14.  Assertion (A): Article 312 of the Indian Constitution provides for All India
Services.
Reason (R): The states wanted to have uniformity in Bureaucracy.

a. A is true but R is false

b. Both A and R are true and R is the correct explanation of A

c. A is false R is true

d. Both A and R are true, but R is not the correct explanation of A

e. Answer not known

oo (A): Bbhdw sgFmwoll aldh 312 @ @hAHW LT QBHTLTLTRISTESLD.

aryewid (R): @@y &rmen Sl HHBTMITHED B(HHd Gouewi(BD 616  LDTHELRIGHEIT

all(pLbLieor.

a. &Bp A o awiemwn@ld. smed R sHeaumprglb.

b. smm A wBpid sryewid R eydu Sgemip gflwng. Goaib sryewid R eeig gapm
A eipsrer sflwmer alenésr@l.

c. &y A FHeouml. smyewib R sflwmg@ip.

d. &pm A wBpb smgewid R gflu SyewiG sflungb. Guepid &ryentd R eaiug gnbmi
A alpsmer silwmer elenésld i606v.

e. alemL Oxfwalsvensv.

15. Jawless vertebrates are

a. Cephalochordates b. Urochordates c. Cyclostomes
d. Amphibians e. Answer not known

STOL BB (PHIOBHIDLISH6T 6T6iTLIme  WITemeu ?

a. M0 (PHG Ligmeniser b. aumed (g Ligmemniabein

C. el LaumwjenLwl o _uffleei d. @maump 2 _ulflemise

e. alemL G flwailsenso

16.  Choose the following pair which lack nucleus in the human blood.
a. Neutrophils and Eosinophils b. Basophils and Lymphocytes
c. Monocytes and Eosinophils d. Matured erythrocytes and Thrombocytes
e. Answer not known
el AIHHHHe0 2 L& &e0e0TsH Denenidamend CHTbosHBHHSMLD.
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17.

18.

19.

20.

21.

22.

23.

a. Huyl Gym. . Nevse wBmID FHGeT. .Le0&H6i

b. GuBsm. .Nev&mel BBID aNMDBLITEMEL &B6iT

C. GurBammengl &1 WwBmID FHGCeuT. .LT605H61T

d. wadrFdl gLbs aflgGrmensl Baer wHEpID HymbGurenal BHel
e. alenL Oz flwalsoemsv.

The left over slurry in biogas production is a good manure rich in

a. Carbon and hydrogen b. Nitrogen and phosphorus

c. lodine and Antimony d. Sodium and Calcium

e. Answer not known

o ulfl eumtwy 2o @BusHHuled LU sLPeHeTled 9lee]  LGHHHLILSTO  FmbHsH
©_JIOTGLD.

a. STUeT LOBHID MHEBLJE6H b. ewbL M6 WB@ID LTerdLIFerd

c. oIGwmgeir LOBEILD S6TgLD6T d. Gamgouib wBEID STELSWID

e. alewL G flwealevenso.

Calculate the concentration of H3O * ion in a mixture of 0.08 M CH 3COOH and 0.06 M
CH 3COONa at 298 K ( Ka for acetic acid = 1.84 x10-)

a. 2.4533 x10 -5 mol I b. 2.7613 x10 -5 mol I-1

c. 3.4533 x10 -5 mol? 2 d. 2.7713 x10 -5 mol I'1

e. Answer not known

298K Geutiuplensouiev, 0.08M CH3COOH wmpib 0.06M CH;COONa Qaremi seveneiuisy
o eten H3O * gyuefuier Gaplalenerds oeamishdbHb.

(o1l9s oufevsder Ka=1.84 x105 )

a. 2.4533 x10 -5 mol I b. 2.7613 x10 -5 mol I

. 3.4533 x10 -5 mol? 2 d. 2.7713 x10 - mol I

e. alewL Oaflwelebenso

If 75% of a number is added to 75, then the result is the number itself. Find the
number.

a. 50 b. 60 c. 300 d. 400 e. Answer not known
@ erewieniienn 75% o Leit 75 £ gnl aimed (P96 DBCH 616wl DbDH eTewTenenids HeuBLIY.
a. 50 b. 60 c. 300 d. 400 e. alowL GaMuwealsdemev
What is 25 % of 30 % of 400?

a. 25 b. 30 c. 120 d. 150 e. Answer not known
400 er 30 % wainier 25 % eresren?

a. 25 b. 30 c. 120 d. 150 e. alewL Gafwalsdenso
Find the H.C.F. of 21 x 2y, 35 xy 2 from the following.

a.7x b. 7y c.7x?y d. 7xy e. Answer not known
BCp 2 sieneneuseiisd 21 x 2y, 35Xy 2 guflweuBper LS.CLT.6L.&TewIS.

a.7x b. 7y c.7x?y d. 7xy e. alenL Ozflwuaisdenso

What is the volume of a cube whose diagonal measures 4 V3 cm?
a.8 cm3 b. 16 cm3 c. 27 cm3 d. 64 cm3 e. Answer not known

4\/§ QF.15 2 cpeevall LIoTed OBTENIL HOTFHITHH HEISION6| 61656 ?
a. 8 cm? b. 16 cm3 c. 27 cm3 d. 64 cm?3 e. alowL GaMuwielsdemsv

In tossing a fair coin twice, find the probability of getting atleast one head.
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24.

25.

26.

27.

28.

29.

b. 1 c.
2

QM gJmer  Breiwld  @ewih  (pewB  SEWILLILGSBEH. GSOBHSH QRMH  HMEL SO HH

BEHDHHAN M  BHTEWIH.

a. d.1 e. Answer not known

Al
Mlw

a. 1 b. 1 C. 3 d.1 e. alowL GaMuwelsdemen
4 2 4

The least number which is exactly divisible by 32, 36, 45, 60 and 80 is

a. 1444 b. 1440 c. 1404 d. 1430 e. Answer not known

32, 36,45, 60 wpmitd 80 oudlwr eTewidented, WHulE) eu@GuUGBD WsE Fpflut eremt

a. 1444 b. 1440 c. 1404 d. 1430 e. alowL GaMuwelsdemev

8 men can complete a work in 16 days. 4 days later, 8 more men joined them. Then the
number of days required to complete the remaining work is

a.4 b. 6 c.8 d. 10 e. Answer not known
8 muUTH6eT @b Gouemevenws 16 BT &aled OFuig (WOUT. 4 BTLS6T &HWPHH Gosab 8
BUTH6T aubd CaTapriTser eeled, OeGaemevenwd GCauIw abhsHHs OCEBT6TEHD [HTL &He6iT

a. 4 b. 6 c.8 d. 10 e. alewL Gapfwaledenso

A car travels 360 km in 4 hrs. Find the distance it covers in 6 hrs 30 minutes at the same
speed.

a. 400 km b.585km c. 600 km d. 636 km e. Answer not known

Q@ wAHWha 360 &5 aMrsHma 4 wewl CrrsHHed sLHHGMH. D6H Geusshdled L (WHI
QFe0ad GQUTIPEH 6 Wewll 30 HIOL MIH6TD 6T6leu6Te| HMTHMHH HLEGD 6160H HTEWIS.

a. 400 &8 b.585 &l c. 600 A  d.636 A5 e alew QxNwealevenev

6 pipes are required to fill a tank in 1 hour 20 minutes. How long will it take if 5 pipes
of the same type are used?
a. 96 minutes b. 98 minutes c. 94 minutes

d. 92 minutes e. Answer not known

QMH BTIHESTLYemW 6 GTuismend Osmewi® Hylleamed 1 wewl 20 HIOLSHH60 DISHEHTLIQ
BIbyD etefled 5 Gmuisenend Gamenih Hyllemed eeleuene) CrrHHled DISHCSHTLIY HIFbLD?
a. 96 PO miHeit b. 98 PLlLmiseir . 94 pliL_misei

d. 92 pidLmiserr e. alewL Gafuwealsvemnso

‘A’ can do a piece of work in 10 days and ‘B” can do it in 15 days. How much does each
of them get if they finish the work and earn Rs. 1, 500?

a. Rs. 800, Rs. 700 b. Rs. 900, Rs. 600

c. Rs. 850, Rs. 650 d. Rs. 950, Rs. 550

e. Answer not known

‘A’ @b Gouemevenwt 10 mrl seigd ‘B’ 918s Geousmevenws 15 BT &6flenid (WQLUILIT. EHaUHLD
Gaba SieIGaemevenuwt GFuig Rs. 1,500 &g miligent. eraflsd SiGHCSHTMHMW sleieuTy LTS
QameiTeurT?

a. em. 800, ¢m. 700 b. em. 900, em. 600 c. em. 850, em. 650

d. ep. 950, 5. 550 e. alewL GaMuialsvemev

On dividing 15968 by a certain number, the quotient is 89 and the remainder is 37.
Find the divisor

a. 169 b.179 c. 181 d. 189 e. Answer not known
15968 & 6hH elewiemiTer UGHHGHW CuTgkl Fey 89 wBBID 168 37 HewLd@b?
a. 169 b. 179 c. 181 d. 189 e. alewL Gafwalsdenso
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30.  If certain sum of amount becomes doubled in 10 years. Then its rate of interest is

a.5% b. 10% c.15% d. 20% e. Answer not known
R GBUILS OTenswmaign 10 Seubselled @TUIgln] SLFBSEH el DIHeT allly aiFHld
a.5% b. 10% c.15% d. 20% e. alenL Gafuwealsvemsv

31. How much time will it take for an amount of Rs. 450 to yield Rs. 81 as interest at 4.5%
per annum of simple interest?
a. 3.5 years b. 4 years c. 4.5 years
d. 5 years e. Answer not known
5450 &G PWBEG 4.5% ey aiHsHHe0, SHalaly (Wpuled, eTdhdHmen DLemTBBH6IMN60
h.81 UL lQuiTe &lenL@GLD.?

a.3.5 syewiBseln b. 4 sy ewiBsel C. 4.5 o wiBsel
d. 5 syemiGaser e. alewL GaMuwealsvemev
32.  Reason and Assertion type:
Assertion (A): We the people of India, having solemnly resolved to constitute
India into a sovereign, socialist secular, Democratic, Republic.
Reason (R): The preamble reveals the source of authority of the constitution

and nature of Indian State.

a. A is true but R is false

b. Both A and R are true and R is the correct explanation of A

c. A is false, R is true

d. Both A and R are true. But R is not the correct explanation of A

e. Answer not known

&Bul (A): ObhHU oHHNMTEW HIEIGET EbHHUTD QH DRDBUITERTEND CBTEmHIL  FLOSHTLD
DS FTITLIBM, GBI, GQUITFTSH DIMLDISHBS, 2 mIHuL 6
STLoTe SGHIeTGCeTLD.

amend (R): wpaeyeny SbHL oduied sTFaISHer DHSTT  (POSIID LOBBID  EbHEWw
BT 196 Hevtenoen! OeueliILBHHFBS).

a. A gfl gemed R seum

b. A B R g @rewiio i R eamug A ulesr gflwmer elendasid

c. A paup spemed R &

d. A oppib R g GrewiGo sflwmerg eemed R &g aflwmer ealendsd A Bsvenev.

e. alewL Oaflwealsvensv.

33.  Assertion (A): Directive Principles of State Policy ( DPSP) are described as ‘novel
feature’ of Indian Constitution, according to B.R. Ambedkar
Reason (R): DPSP acts as a guideline for the state.

a. A is true but R is false.

b. Both A and R are true: and R is the correct explanation of A

c. A is false. R is true

d. Both A and R are true but R is not the correct explanation of A

e. Answer not known

a&mp (A) : os pBlwpoBuUBISSHID CaT LThHeT @bhHW DIFFuIcoeDrIT6T  LigIenLOWITeT
Apiibgd’ eter B.R. oibCugsymed alaufsasiiuGapg.

smyeord(R):  op& CBEXl(LPBULBISHHILD Gam_umBasert [BITL_1QB3&5T60T QUPBTLIQUITSH
CFweoLIBGH MBS

a. A gfl geme R seuml

b. A wppid R el @remibd o R etetiug A ullesr gflwimenr elendbsid

c. A pap spemed R &

d. A opmib R g SyewiGo sflwnerg spemed R @ sflwrer alendsid A Be0anev.
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e. alemL Oxflwaistensv.

34.  Which High Court is the biggest High Court in India?
a. Calcutta b. Chennai c. Allahabad
d. Delhi e. Answer not known
@bgwreler sl Guiuw o wi BHHWBD 6157
a. HLBHST 2 W B LO6IMBLD b. Gaeienen o wiT BHLDGHIBLD
C. SIVEHTUTH 2 WT B OB d. QLebed 2 wif BB
e. alenL Oz flwalsvemsv.

35.  Match the following;:
Country Name of the Parliament
A.USA 1. Diet
B. Japan 2. Parliament
C. Britain 3. Folketing
D. Denmark 4. Congress
A

NN

W W R =g
N BN WA
i N

Answer not known

UT(hSHDIH:
ICE BTLT@HLOGTBS ST GLIWIT

A. 9QwiEs MeHW BIGSH6N LoLwt
B. sqtiumes 2. UMJT@HLOGIMBLD
C. Ofc e 3. GumebsL 19mI
D. QLebmoné 4. SMHIETer
A
2
4
2
4
alewL  OFflwaistensv.

a
b
C.
d.
e
@

W W R RO
NN WA
el |

o0 o

36.  Match correctly the excavated things with the corresponding places:
A. Copper Khetri
B. Gold Kolar
C. Lapis Lazuli Badakhshan
D. Cloth Umma

o0 o
_os R W
B NN R o
W WA
N @R NDgE PN RF

e. Answer not known

SIBLDUMTITUIFS] Cauwuwii’ L QuITpLHemensH OHTLTYDLW B WIS @ETHL 60T
QUT(HSHHALD.

A. smdyb 1. GasH

B. smsb 2. @ameur

FiwmsLll
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37.

38.

39.

40.

C. wenlldbaed 3. UTHage

d. sieml 4. o_1pom
A B C D

a. 3 4 1 2

b. 1 2 3 4

C. 4 2 1 3

d. 1 4 3 2

e. alewL. Gafweledenso

Which reference says that the bankers work was done mostly by the Sarrofs, Sahukars
and Mahajan’s during the Mughal period?

a. Tazkirai - ul- wagqiat of Jauhar

b. Razik Priya of kesh Das

c. Ain - i - Akbari of Abul fazl

d. Khulasat - ul - Twarikh of Sujan Rai

e. Answer not known

(PSHEOTWIT  HTVHHED  URISIT  LewildeT  GQUEHLUTEID  QJT. .LIs6T, FTAB STH6T  LOBEBID
LD&BTERE0T&6MTe0 GFWIWtLL LT a1aiml 6heHs GBS SapISBsI?

SEETTUI-2_0-euTalwmg Oegenamifler

Gageu gTenilerr gdlé Lifwim

SiLed .".Lerdellen e6iT-e3—dLifl

Fggment JTUlell &60TE&-2_60-Seufld

alenL  Gzfwailsvemev.

can o

The greatest king of the Rashtrakuta dynasty was

a. Amongavarsha I b. Krishna II c. Indra III

d. Govinda I e. Answer not known

ITORTdL SIJFTHEIN60 HenevdmbHoHeulT

a. (WPFHeTD IGLOTHEUTART b. @yewi_mb & HadewiT C. Cp&BTD EhHAITT

d. gyewimbd GCamalpba e. alewL Gafuwealsvemnsv

According to census 2011, the percentage of tribals in total population of India is

a. 6.3% b.7.4 % c.8.2% d. 8.6% e. Answer not known

2011 o Sewnget  WEHFH6T  OFHTemdd  HewdbosGLLSILY  ShHwnaler GrHs  HD6N
CaHTeNEUIL LIPWIGY LDSHSH6T 1oL (HLD FHIFHLD ©_GITereiT.

a. 6.3% b.7.4 % c.8.2% d. 8.6% e. alowL GaMuwealsdemev

Consider the following statement and tick the correct answer;

i. ‘Secularism’ is the part of Indian Constitution

ii. One religious group dominate another

iii. The State permits the practice of any religion

iv. The State remains neutral in religious matters.

a.iand ii only b. ii and iii only c.iv only
d. i, iii and iv only e. Answer not known

gilwmenr gnpenp Bxiey GFuis:

1) Fowd Fniieeny eaug SbHu DFFUIOMULIET QhH HIBISLOTGLD.
. @ FWD FMHS G LBOBTMH Gpalsar W SHEHD CFaIHHIH6e0
iil. ehs FOWSHMBWID LT@GTUBB DIJd SIS U6 &FH60

iv. gow aleusnmiseilsd g HBHBHEMEVMID OB (HHIHE0

a.1,ii @b b. ii, iii @G C.iv L @B
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41.

42.

43.

44.

d.i, ii w@BEb iv ol G0 e. alowL GaMuwelsdemev

Match List I with List II correctly and select your answer using the codes given below.

List1 ListII

Pass Connecting two places
A. Niti pass 1. Kashmir with Kargil
B. Pensila Pass 2. Uttarkhand with Tibet
C. Burzail Pass 3. Ladakh with China
D. Rohtang Pass 4. Lahul with Spiti

A B C D
a. 2 1 3 4
b. 2 3 4 1
C. 2 3 1 4
d. 2 1 4 3
e. Answer not known

utuwied I g uluwed II o et Qumpshd), S8 GamhéHsiul Beten GBuibsmend Gsmem(h
alemLemwid CHihHoSH 0.

Ul guied I ulguied II
HETEUTU BOrewi(h G MIBHEm6N  EeN6THB B!
A. Bl sewreumul 1. SMTHQILGT BTOJST
B. Queiidleor semreumul 2. HOUSHIL ST 2 5HSHTHMIL
C. yrenged memieumu] 3. 6ULM&HGL 60T &eorm
D. Guramssmm Sewteumul 4. eOUILIQUIL 6T 6UTEN"6D
A B C D
a. 2 1 3 4
b. 2 3 4 1
C. 2 3 1 4
d. 2 1 4 3
e. allewL  OFflwealedensv.
In which year, Quick Mail Service is introduced in India?
a. 1955 b. 1965 c.1975
d. 1985 e. Answer not known
@hFHwraled almge] iehded Cemeu 6lhdH Lm0 DINSI(PWSILGSHSLILILL GI?
a. 1955 b. 1965 c.1975
d. 1985 e. alew OFflwaledenev

Among the Union territories, which is the highest and lowest density of population in
India?

a. New Delhi, Puducherry

b. New Delhi, Andaman and Nicobar Islands

c. New Delhi, Goa

d. New Delhi, Yanam

e. Answer not known

@hHwmaled SHIFHS WBBID GHOBHS LSHHNLTHSH OBmewi upeiluie LIFCsHFmiseT wmeneu?
a. UsleLevel, LgisGa b. uzIGL 6060, SibsLOTET BHGHTLIMTT &6 |®e6iT

C. UsI6L6v6l, Gmmeur d. ysIELeved, eermid

e. alemL Oxflwailsvensv.

Which of the following is incorrectly paired?
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45.

46.

47.

48.

1. SBSE - State Board of School Examinations

2. BHSE- Board of Highly Secured Examination

3. TNBSE- Tamil Nadu Board of Schooling Education

4. TNBHSE - Tamil Nadu Board of Higher Secondary Education

a. 1 and 2 are incorrect b. 2 and 3 are incorrect

c. 3 and 4 are incorrect d. 1 and 3 are incorrect

e. Answer not known

Uesteu(meuamoubsled 61gl SHeupnsd GBILLIL UL Beitengi?

1. SBSE - womplev ueiteile sevall eumfluib

2. BHSE- 2_wit wgti6uewt G| eumfluid

3. TNBSE-s10ipp1®h usiteflld sevai eumfluib

4. TNBHSE -s10ipp1(6  GuwevBlenevd sevall eumfluib

a. 1 w@Bpb 2 FAumergh $ie06v. b. 2 wBmib 3 sflwrers oiede0
C. 3 wBmd 4 Fllwmergd ojeL6L d. 1 wBpd 3 Flurerg 9Ed60
e. alewL G flwealsdenso

Wildlife Protection Act was enacted in the year

a. 1974 b. 1980 c. 1972 d. 2002 e. Answer not known

auedl alleVmIGHFH6T UTHISTULF FLULID SuBBLulL  SLe0i{h

a. 1974 b. 1980 c. 1972 d. 2002 e. el GFflualsiene
The Government of Tamil Nadu has instituted an award by name to a
person outstanding service to promote communal Harmony.

a. Thiruvalluvar Award b. “Kottai Ameer Communal Harmony Award”

c. Perarignar Anna Award d. Pavendar Bharathidasan Award

e. Answer not known

0% HeLIMIBHHMS CULLGSHHID aumasuled FBhs ComeuwunBpBiu @HeahHEHE SUOIDHTH
S& UPRIGLD all(ha)
a. FHmeueienall el b. Gamien oufiT 1085 HeLelewt aNHaB
c. CurBllepT Sjewtemm all(HSH d. urBaubaiT UTTHSHTFET all(HH!

e. alewL Oxflwelebenso

Who are citizens, choose the wrong statement.

i. Citizens enjoy full civil rights

ii. Citizens are members of the political community

iii. Citizens do not enjoy political rights

a.i and ii b.ialone c. ii alone
d. iii alone e. Answer not known

LNeTeU(HLD FnMBmIeN GHIQLDSHEET WITT TS0 HeUBTET FnBenBd ST (HH.
1) GYwdder (WL Falsd o Menwsenen DieILIeTSHHBTTH6N

i) opflwed FepssHHler o nILTeTTHeT

iil) GYIEH6eT SIFflulsd 2 Mensemen DiILIATILHE0m60

a.i wmpid i b. i L @Bib C. ii L @B
d. iii o1 Bib e. alenL  GaMuwaisvemev

What is much tastier than the nectar from heaven in a family?

a. Touch of Children b. Food messed up by the hand’s of one’s children
c. Music of the flute d. Loving words of the beloved

e. Answer not known

SODHHMmS i SNenDULITETH TR U6TEHAUT THeNeTF Gl (HleIBT?

a. &H6IT OLout g6t 60 b. s wEseT FP e Semmalul galp
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C. LJ6Leummi@1pede @ellento d. &3l a1 ‘OaFmed’
e. alemL Gz flwailsvenso

’

49.  “Navil thorum Noolnayam: polum payilthorum Thotarbu *
great pleasure?
a. Association with innocence ( Pethayar thodarbu)
b. Association with women (Arivaiyar Thodarbu)
c. Association with the genteel ( Panbudaiyaalar Thodarbu)
d. Association with the learned ( Arivudaiyaar Thodarbu)
e. Answer not known
‘polled OHTmID HITeL HWID Cumenld LUTOOSTBID OBHTLTY”  WIHEHLW  OFHTLTY  E6TLD

whose association gives

SH(HLD?
a. GuemswimT GHTLITL b. afleeuwit GHrLiT
C. LIGWIL|6nLWIT6NT OSHTLiTL d. emfleyemLweum GHTLITY

e. alewL Gaflwealsvenso.

50.  The National Human Right Commission was established in the year

a. 1990 b. 1978 c. 1979
d. 1993 e. Answer not known

Gzl welly 2 Mens6T SLemenD BHiBeuiuL L  SL601(H

a. 1990 b. 1978 c. 1979
d. 1993 e. alewL OxpMwealedensv.

51.  Choose the correct pair:

a. Glass beads - Porunthal

b. Shell wastes of Bangle - Keezhadi

c. Furnace - Kodumanal

d. Canoe - Auroville, Puducherry

e. Answer not known
gflwmenr Semewienwld BHiey OFU1s:

a. SHEWICITY LDGWBH6IT - QUIT(HHSGH6D

b. o ®LHbsH FEEG aIm6TUIed S STolle}

C. 2 (h&& 2_6M60 - OBT(BLOEIT6L

d. @8y wrdsTeorer ULSaT LUGH - UHFCFHule BrTailsd

e. alewL G flwalsvenso

52.  Choose the correct answer:

(i) Velu Nachiyar was a Queen of Sivagangai

(i)  Muthu Vaduganathar was killed in Kalaiyar Koil Battle, was the husband of
Velu Nachiyar.

(iii) Kuyili a commander of Velu Nachiyar was the first suicide attacker.

(iv)  With the help of Marudhu Brothers again Velu Nachiyar was crowned as Queen.

a. i, ii and iv are correct b. i, iii and iv are correct  c. ii and iii are correct

d. All are correct e. Answer not known

gflwmenr alemLenwld OFHfle) QFuis:

(i) Sousmiensuler ‘@ymeni’ Geugy BHTFAWITT Syeumy

(ii) sremenui]  Gsmaled  Bumfled  Gamevevli’ L (1pHH  UbBBBTEHT  Symenl  Geugyl
BIFFWITH 6T SHemTeUTTeUT.

(iii) Geugw mTFFAwmflesr BHUOLIGMBESGHW LOLH Henug GHuled Seuf (PHe0 HBOBTEN6VLI
uedL ey Syeuy.
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53.

54.

55.

56.

APPE> L0
STUDY CENTRE
CHENNAI

(iv) o sCarayjseisr o salwier Goug) BHTFAWTS WewiBh STeniums (g GLigd

O mewrTLm.
a.i, il @b iv &4 b.i, iii w@Bpid iv i c.ii, @b iii &4
d. gmasaid i e. alowL Oz fuialsvamen
showed his compassion and mercy on all living beings including plants.
a. Ramalinga Adigal b. Iyothee Thasar c. Baba Ram Singh
d. Guru Nanak e. Answer not known

ST FIemLLD ATEBHMBWD OFlg CBTYH6T o 'L DDeiHdl
o uiflemiseiSHHe0d ST iguieu].”

a. @IToelms SgH6 b. @BursHHTF) C. uTum gmb e

d. emETas e. alowL Gafuialsdamen

Choose the correct statement:

L Priyar EV Ramasamy was the founder of the Self-Respect Movement.

II. People hailed him as “Vaikom Veerar” (Hero of VaiKom).

III. ~ He frequently wrote columns in the magazine under the “pen name” “Chitra
Puttiran”.

IV.  He also supported B.R. Ambedkar’s demand for separate electorates to
scheduled castes.

a. I and IV are correct b. II and III are correct

c. I, IT and IV are correct d. Il is correct e. Answer not known
gflwnen gmpenpd Caje| QFuls.

L. Quflwry m.Geu. @ymosma sw wiwremsd BusssHmedH CaHTBBITSHHTT

IL. IDHBET DIGUMT MAIBBID GIJT  6T60T  LITITL 1Q60T]

I1I. Quflwmy ‘fsHT usSHTer eTeid Liener GUWIfed B BEMTHENET 6T(LY 6T

IV.  B.R. ouGussni oeuiseiea @BSSLULULL WWESEHEITRN  HansHCHTH0 OHTEGHH S
Camfldmamul GuFlwmmD DLHFSHBTT

a.l g IV & b. I w@enp I &)

c.l, I wppw IV &f d. II & e. alewL Gz fluialsvensv

was the first Queen to fight against the British colonial power in India

a. Kuyili b. Velu Nachiar c. Rani Mangammal
d. Rani Lakshmi Bai e. Answer not known

@bgHwraled LIflilges sTeval uHEEHme aFHTHHIL CuTiL (WpHed Olewienye
a. Gulel b. Geuey mpFAwITy C. 6wl LOBIGLDLOTGIT

d. gmeml @eols10 wmul e. alewL Gafevwialesdensv

Assertion (A): Ambedkar wrote, Annihilation of caste

Reason (R): He criticized cased system and Hindu religious texts

a. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not the correct explanation of A

c. A is true, R is false

d. A us false, R is true

e. Answer not known

FgBm (A):  ang Uiy uBn SIbCUGST eI1SUeTeT].

asmyend (R): @bg gow prevseisd B phs F1d8 (wepedwl alojFeld CFUIST].

a. gmp A wpp s R Gyewiio Ffl, wBmid smyewid R gampiler A gfluwimer
alleN&HLOTGLD.

b. &by A wBpw s R SrewiG Ff, oemed @mewid R gmmplear A Fflwmer
161 BHLD6V6V
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57.

58.

59.

60.

61.

c. apm A g4, smeoid R seusl
d. &Bm A sem, smyewid R &
e. alewL OFFflwaledeneo

During the Loksabha Constituency Election in 1952 Kamarajar got elected from
a. Nagercoil b. Virudhu Nagar c. Sritilliputtur

d. Aruppukkottai d. Answer not known
1952 - @60 mEoLOUBB HEILTEHWABS BFTHeded &mofrs] GCHIHOSBHESILLL BTG

o
a. prajCsmaied b. al®ma& BET c. nfelevellliL e my
d. smiysGst e e. alwL Gafuialsvamen

Which one of the following is the family name of Nehru?

a. Rai b. Kul c. Sarkar

d. Kaul e. Answer not known

Letteu(heuesteuimie 61g Ghphallet @GGBUWUL QU] u&Wb?
a. gmul b. @& C. UMy
d. Qmened e. alenL G flweailsvensv

‘India will be a global player in the digital economy” who said this?

a. Amarthiyasen b. Manmohan Singh c. Sunder Pitchai

d. Jawaharlal Nehru e. Answer not known

‘Bevdd  (pewB  QUTHMTHTIHH60 BhHWT @ 2 evsamalw Gurliuirengm@hd’ aaIbE
SaBluieuy

a. OWJSHWTCFes b. weGionser dmbi C. b LNFmF
d. meuamieumed Gm(H e. alewL OFfluwailsbenso

Choose the Right matches among type:

L. First five year plan - 1950 - 1955

II. Third Five year plan - 1966 - 1969

III. ~ Ninth Five year plan -1997 - 2002

IV.  Twelfth five year plan -2012 - 2017

a. I and II correct b. III and IV correct

c. I'and III only correct d. II'and IV correct c. Answer not known
gflwmen Benewtenuld BHib0EHH&HBLD:

L. (PSH60 WHSTWIH S L LD -1950 - 1955

II. (PEIBTEUS bSTemI(H S L LD - 1966 — 1969

III. PALUSTOUH QbSHTewI(H S L 1D - 1997 — 2002

IV.  ueefoyeni_meug bsHreni(h SHiLib- 2012 — 2017

a.l wmmp II &f b. III wmmb IV &

c. ] wmpd HI &4 d. II wBgp IV &f

e. alewL OFflwalsvenev

Assertion (A): Self help groups are linked with bank based on their performance

Reason (R): The main objective of this programme is to bring the beneficiaries
above the poverty line.

a. A is true but R is false

b. Both A and R are true. R is the correct explanation of A

c. A is false, and R is true

d. Both A and R are true, but R is not the correct explanation of A

e. Answer not known
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app (A):  asw 2 sald Gudseieas QFwWeOLTBEMET Mmeubdl euhid SenewtliLid
FHLHHL BFIHELILBGSBTTHE.

smgewid (R): @I LosdHedr e Guréswrag Lwemelamet supenwsd  CaTlieBE
Bwed (WeTGeBBLmL WF CFUIISHTEGHLD.

a. A gfl gemed R seup

b. A B R @rewid &f eaiug A alBarer sflumer alendson@d

c. A seum, wppd R &4

d. A opmib R gewibd 5, spemmed R eiadiug A albamer Fflumer eflendasneoe0

e. alewL OFflwalsvenev

62.  The country which will host ASEAN 2022 is

a. Cambodia b. Italy c. Rome

d. Sri Lanka e. Answer not known

2022 @0 ASEAN &l L S0& 6lbd BTH bHLSHBHISBSHI?
a. sGumguIT b. 85smed c. 2 Gymb
d. Bemiens e. alewL Ozfweaisoensv

63. Who won the Miss Universe 2021?

a. Harnaaz Sandhu b. Nadia Ferreira c. Lara Dutta
d. Nandita Banna e. Answer not known
2 & SIPF ULLGHHemen 2021-860 Gleuesimeui wimiy?
a. QM6 &Fhal b. prgwr . .CQuGyfwm C. QUMIT SHSHHT
d. mhHST uesTeHIT e. alewL Oafuweisoenen
64. Match the following:
Name of the political party Strength in the 16t Assembly
A. PMK 1. 18
B. VCK 2.2
C.CPI (M) 3.4
D. INC 4.5
A B C D
a 3 2 4 1
b. 4 2 3 1
c. 4 3 2 1
d. 2 3 4 1
e. Answer not known
QUT(HSHHIS.
SIrdlwed sl gl 16 eugl FLULIOABHHED IFHET LIGVLD
A. ymiLmef wéset &L gl 1. 18
B. alpsmev FApisHemgser @i dl 2. 2
C. wrjsdevl sbuyeiendl s 3. 4
D. @pdw Gxdlw smmidyerd 4. 5
A B C D
a 3 2 4 1
b. 4 2 3 1
c. 4 3 2 1
d. 2 3 4 1
e. alemL O flwalsvenso

65.  The objective of Clean Energy Research Initiative (CERI) is to
a. Develop innovations b. Make it affordable and accessible
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66.

67.

68.

69.

70.

c. Develop research d. All of the above

e. Answer not known

g §58 omuiiFd wwsd (CERID) uler @nflsGsmel

a. USHINHIDHEN6NT GU6TTLILIGI b. welaursad SIEDIGBHHmMIQUISTEAID CUIBLILGHMIS!
C. SQUIMUIFHUNGT eLpeOD GUGTTLILIG e. GuB@BIULILBeTen SIMETHSHID

e. alenL Oz flwalsvenev

On November 28, 2021, a major earthquake with a magnitude of 7.5 struct at
a. Indonesia b. Peru c. Pakisthan

d. New Zealand e. Answer not known
BeulbLI 28, 2021 Sieiml, 7.5 MELT Siemey OBTewIL e TG BeopBHHSD gBulL S LD

a. ®BCxHTCaadui b. Gugm C. UT&erOgHTes
d. Puwdeorbgl e. alowL Gafuiealsamen

Which one of the following is root parasite plant?

a. Viscum b. Cuscuta c. Loranthus

d. Rafflesia e. Answer not know

SpdbaseniLeuBpled 6lhgh SHTeugd Geu L (Hewrenil SHTeUFLOTEGHLD?
a. aflervsd b. sedaml L c. Geomymeitgerd

d. ymiendlwm e. alowL Gxflwalsamev

Answer the following questions using the data given below:

Assertion (A): Acetic acid is a weak acid.

Reason (R) Acetic acid has four hydrogen atoms but only one can be replaced.

a. A is correct R is wrong

b. A and R are correct. R does not explain A

c. A is wrong R is correct

d. A and R are correct. R explains A

e. Answer not known

Leiteubd allemmebdenen SpdHHewiL  GBILILS6T cpeuld allenl Wieifldbaa|Lb:

amBp  (A): o1Flys Sleod auelemd GmBhE SiLevLD

smewd (R): oifllys ouflvdhded BTG maBl e Siamsser SbbSTId, @067 b
amaml ymemen WL GO @ NOUWFFF Qguiw (pguLD.

amppl A gfl smewid R sHeup

FBod A, stgewiipld R afl, gpemed amgenid R aamm A alauflbsalstenso

B A, ey R gf. smebd R speven A peiig alend@dmgl

alenL  OFflwailsoensv

o0 o

When a force ‘F” acts on a body for a period of time ‘t’, then the product of force and
time is known as

a. Inertia b. Moment of a force c. Impulse

d. Linear momentum e. Answer not known

‘F aeip aleng t' aaim om0 oeneled @@ Gummellar 1% GEulsOLl LTed gmuUBD &L
aleng BBID &Tev  Sjenale OLHSIBLOMISE FOWTH EHBGSGWL. EHEMT

GTGBILIT.

a. Hleweulold b. 2 g alewg C. BWGHPHTHEG,

d. Gpflued o Heid e. alenL Qg flwealsdensv

Which of this is not an unit for viscous force?
a. Newton b. Poise c. Kgm1s1
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71.

72.

73.

74.

75.

76.

d. Nsm2 e. Answer not known

BauBBIeT 61 UTGHMW alengullel SievE SHlenLWmg)?

a. Huyl L et b. wumuierd c. Kgm1s1

d. Nsm2 e. alewL Osfuwialsamen

Which one of the following has the highest density?

a. Air b. Water c. Kerosene

d. Wood e. Answer not known

SpaTewiLuBmIeT 6ihBHL Qumhefer SILTHH LOGHwTeng?

a. sTBml b. By C. 106106001 6u8TG\6uoTL
d. wyb e. alewL Ozfuialesvensv

Find the H.C.F. of x* —2xy+ Yy’ and x*—y*.

a. 1 b. x +y c. X -y

d. x*-y° e. Answer not known

X2 =2xy+ Y% wpgd X —y! eywadiar BUGOL®m GUTE uGHH STeNTs.
a. 1 b. X +y c. X -y

d. x*—y° e. alowL Gxflwalsamev

Find the area of triangle formed by the points (-5,0), (0, -5) and (5, 0).
a. 0 Sq. units b. 25 Sq. units c. 5 5q. units

d. 125 Sq. units e. Answer not known

(-5, 0), (0, -5) wmmd (5, 0) wdHw yeitellsenTed SEMLSSLILBLD (WPHCHTEWISHH6T  LIFLIL
BITGUHIB.

a. 0 . SVGB6I b. 25 . G Hei C. 5 F. SIVGHDB6

d. 125 F. s0&®H6i e. alowL Gz fuielsamen

The circumference of a circular park is 352 m. Find the area of the park.

a. 8956 m2 b. 448 m?2 c. 1452 m?

d. 9856 m?2 e. Answer not known

QM el L eugelll misTaler ampene 352 15, elefled LyRISTaNe LITLILIGNE| SHT6wlb.
a. 8956 1 b. 448 c. 1452 1

d. 9856 e alewL OFflwalsbensv

A wood cutter took 12 minutes to make 3 pieces of a block of wood. How much time
would needed to make 5 such pieces?

a. 12 min b. 24 min ¢. 30 min

d. 36 min e. Answer not known

R I Geu (BuUeTHE @h WISHSHIEWML 3 HWIBHINMTEGUSBEG 12 HIOLMIS6T QG
aTelled DIHMT 5 HIWIHHNTES 6leleueney Cryd GHemeu?

a. 12 P b. 24 B c. 30 MiLLD

d. 36 P e. allenL  Gzflwealsvenso

The least number which when divided by 12, 16, 24 and 36 leaves a remainder 7 in each
case is

a. 151 b. 51 c. 36

d. 144 e. Answer not known

12, 16, 24 1oBpid 36 L0 uGHUGLOUTH @aIGeuT(H (WedBWb 7 & WBHWTES HTHanlgul
WaFFBW SHILenL_UI 616w S LD.

a. 151 b. 51 c. 36
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77.

78.

79.

80.

81.

82.

83.

d. 144 e. alomL Gxflualevemev

If 382 is written as 238, 473 as 347 and so on, then which of the following two number
will have least difference between them

a. 473 and 382 b. 629 and 728 c. 629 and 568

d. 728 and 847 e. Answer not known

382 eeiiugy 238 eteiald 473 etediugl 347, ..., el@@D IS LTeD, LleTeumd  Bh
aTewimefed 6hbdh O eTewibella alHHWTFID, 0EHDH GMBUTOIHTS B(HHGLD.

a. 473, 382 b. 629, 728 C. 629, 568

d. 728, 847 e. alowL Oxpflweaisoensv

If RED is coded as 6720. Then GREEN can be coded as

a. 1677199 b. 1677209 c. 16717209

d. 9207716 e. Answer not known

RED &1 @ilui® 6720 etefleo GREEN et @pflui®

a. 1677199 b. 1677209 c. 16717209

d. 9207716 e. alenL  Oxfweaisoensv

ABCD: OPQR : : WXYZ :?

a. EFGH e. KLMN c. QRST
e.STUV E. Answer not known

ABCD: OPQR : : WXYZ :?

a. EFGH e. KLMN c. QRST
e. STUV e. alewL Oz fuwealsdensv

A number consists of two digit whose sum is 9. If 27 is subtracted from the original
number, its digits are interchanged. Find the original number.

a. 36 b. 45 c. 54 d. 63 e. Answer not known

Orewih  DeubBHIBEN6NTDH  OBTEWIL @  elewiewienl  Aevdbsmisella  FmBHO 9. DbHD
oTewienllel(Bbdl 27 @b HWES  elleucisefler AevdbsmiseT @D TdelE.  sleflen,
916110161 GTTEN60TH  BHTEITE

a. 36 b. 45 c. 54 d. 63 e. ol Oxflueisoenen

Simplify: 20 + [8x2+{6x3—10-+5}]

a. 40 b.57 c.52 d. 48 e. Answer not known
FmH&®: 20 + [8x2+{6x3-10+5}]
40 b. 57 c.52 d. 48 e. alowL Oz fuialsdamen

The rate of interest at which Rs. 640 amount to Rs. 774.40 in 2 years. Find the interest is
compounded annually

a.10% b.12% c.12.5%

d.14% e. Answer not known

Rs. 640 ooz @rewih ouewuiBhseiled gnl BHOHTend RS, 77440 @b etafled Gnl (B 6ULllg
Al FHLD HTevr

a.10% b.12% c.12.5%

d. 14% e. alenL G flualevemnev

The value of a motor cycle 2 years ago is Rs. 1,00,000. It depreciates at the rate of 5%
p-a. Then the present value is
a. Rs. 80,000 b. Rs. 80,250 c. Rs. 90, 250
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d. Rs. 90,000 e. Answer not known

RT B FEHB] aTHaHHer alemev 2 SWIHBEHEHSG (W& eh. 1,00,000 o5 OHHHH. DIFHei
ALY pBGCHTBID 5% aipld GHmBABH ciefed BT SBOUTMHW O

a. 5. 80,000 b. 5. 80,250 C. eB. 90,250

d. ep. 95,000 e. alowL Osflwalevemnso

84.  “Liberty, Equality and Fraternity” are the slogans given importance in the preamble of
our constitution. These were slogans of which Revolution?
a. American Revolution b. French Revolution c. Russian Revolution
d. Chinese Revolution e. Answer not known
“GEHHATD, FSHOID, FCHITHIHHIOUD” 6B  (PIYSIEIBT @bHu  DFdluievenioli e
(WHmTUNeL (PSBHWSHSHIOID HILILIL BeTengl. Qeweu 6hdh LI Fuler (psHHmisbeiT?

a. 9IGwféal Uyl d b. WOyEha1 Ly C. gaduwil Yyl &
d. e yyLs e. alewL Oxflwaisoensn
85.  Assertion (A): The council of Ministers is collectively responsible to the Lok
Sabha.
Reason (R) Ministers are appointed by the president on the advice of Prime
Minister.

a. A is true but R is false

b. Both A and R are true and R is the correct explanation of A

c. A is false, R is true

d. Both A and R are true but R is not the correct explanation of A

e. Answer not known

FaBl (A): owFFToHeT G LB OLTSHIONS LOHSHEMMeIDE CUITBILILEDL LIGTEHET

smyewd (R) : omwgsismen Lyswiler ouGaurgmenuiesr Cuiled @lpuwgs Hemeveu]
B SSIB.

a. A gf gemed R smeum

b. A B R afl A ssrer sflwmer aleandsd R ou@ld

c. A sam, R &

d. A opgid R #fl A darer sflwmer alendsd R eusrg

e. alemL OFfluwailsoenev

86.  Which of the following is considered as the Guardian of the constitution?

a. Legislature b. Executive c. Cabinet

d. Supreme Court e. Answer not known

LetTau(heuesTeuBmIeT 61%h DIFFIUIe0 DIGLOLILNGT LITHISTEUIDTES SH(HBLILBGH GIBHI?
a. FLLLDGIMLD b. oy fssims C. ST FTEna

d. 2 55 BHwamd e. alowL Gafuialsdamen

87.  Arrange the following in chronological order with respect to their establishment:
1. Central vigilance Commission
2. Central Bureau of Investigation
3. Central information commission
4. Lokpal and Lokayuktha Act

a.1,3,2,4 b.2,4,3,1 c.2,1,3,4

d.3,2,1,4 e. Answer not known

SpFTeamiLBmB S  CHiBmelssiulL ewngeT  SglilenLuled  FHlwTs  HTeV
auflenF LB SHSHeLD:

1. WSHHUW SHeHIHTRILIL] LENEUOTULILD
2. SHHW LeuadTule] G (D
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88.

89.

90.

91.

3. HFHW HBEUD HLEDETUILD
4. Geursumed oBmID Geord HLUISHT FLULID

a.1,3,2,4 b.2,4,3,1 c.2,1,3,4

d.3,2,1,4 e. alewL Gxflwealevemev

Which is the northern most settlement of Indus Valley civilization?

a. Sutkagendor b. Shortugai c. Alamgirupur
d. Daimabad e. Answer not Known

bzl Fwbeuel Erafssdlar e &Camy @Glullmiy e1gl?

a. &l &ToxeGLmy b. Gagrithens C. SLEVDETLLT
d. evLiomuns e. alewL Gzfluialsdensv

Who was not the contemporary of Samudragupta?

a. Pushyavarman b. Bhaskarvarman c. Vishnugopa
d. Sri Meghavarman e. Answer not known

FYHITGLIS] STO0HDHE FTITHeU]

a. LaguledLoest b. umerbesiyeuTLOEH c. aladanGsrum
d. vf Gseuiioes e. alenL Gzfluialsdensv

Choose the correct statement:

(i) The Indian heritage advocates hospitality, charity, friendship, love, humility,
truth

(i)  The paintings at Ajanta and Ellora are world famous.

(iii) The Jain’s celebrate Buddha Poornima.

(iv)  Bharathanatiyam, Kuchipudi, kathak, Manipuri and Oddissi are some of the
famous dances in India.

a.iand ii are correct b. Only iv is correct c. Only iii is correct

d.i,ii and iv are correct e. Answer not known

gflwnend gmmenp Caije] CFuis:

(i) @hFHws  urgouflwb  eHHCHTIDLE, FeddH, [BLUL, L], QIOSHID, 2 _6wINLD,
SFWaBmBeS CHT6wIL Gl

(i) obsT WBBID T1e0CTIT EalWLEIST 2 60sll LsSp OLBBeme

(iii) FwenTHeT LHs LJeniomeney CameuwrL B sTBen)

(iv) urs BEILRWD, GF&IUY, SH5s6l, wenliyf, BB @ud Guramame SbSwirales
Usl GuBB BL eTshEHme0H6MT(GLD

a.i wmpb i g b.iv w @b & C.iii B Fif

d. i, ii wBpd iv &4 e. alowL Gafuialsvamen

Assertion (A): Himalayas are called young fold mountains.

Reason (R) It was formed only few million years ago by the folding of the earth

crust due to tectonic activity.

a. A is true R is false

b. A is false R is true

c. Both A and R are true

d. Both A and R are false

e. Answer not known

aBm (A): Swiomey @ S6D QLI LDENEOWLITEGLD
smyenid (R): @wioemey Fev lededlwer oy emiBHEhsHE (Weansrer LalGwGam G Guiflwaas
AlleNFH6IT SHMTEIOTS 2 (HEUTHIWIG!.

a. A #f, R seam

b. A seam, R &4

20 | P age APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




92.

93.

94.

c. A, R spdw Ggewipd &
d. A, R g8 QyewiGido Heuml
e. alemL Oz flwailsvenso

Ganga River’s right bank tributary is

a. Ramganga b. Manas C. Kosi
d. Yamuna e. Answer not known
FHmS HHUIET 6160H HdTUleT Hiewew HI)
a. Jmb SmIGT b. wermerd c. Gard
d. wqpeot e. alewL Oz fuialsdensv
Match the following rivers with their tributaries:
A. Indus River 1. Gomti
B. Ganga River 2. Indravati
C. Brahmaputra River 3. Chenab
D. Godavari River 4. Subansiri
A B C D
a. 3 1 2 4
b. 2 4 3 1
c. 2 4 1 3
d. 4 2 3 1

e. Answer not known
SPHHMIL.  HLBIHMET DieUBNI6H  SHIENEIULITBISEHL 6T CUT(HSHHALD:

A. fbal BH 1. Gzmog)

B. smms B 2. @bhgHyTeus)

C. dpowysapr B 3. el

D. Gargmeufl ma) 4. suennf
A B C D

a. 3 1 2 4

b. 2 4 3 1

c. 2 4 1 3

d. 4 2 3 1

e. alemL OFfluwailsoenev

Match the following:

Name of the organization Place

A. Government Medical College 1.South Chennai

B. Centre of excellence for 2. K.K. Nagar, Chennai

C. Centre of excellence at the 3. Kanchipuram

Institute of Rehabilitation
Medicine

D. Multispeciality hospital 4. Thiruvallur
A B C D

a. 1 3 4 2

b. 3 4 2 1

c. 4 3 2 1

d. 3 4 1 2

e. Answer not known
BSOS BT aUBMBL  CLIT(HIHHIH
SIS 6M6T QLILITHeIT SIMOAILLD

21| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




95.

9.

97.

98.

99.

—

. Qe GFeirene
. G5.8x. By, GFeenet

A. ops wHSBHIS B0
B. yBmGmruissrer Fpliy enwwid SislehT
SIEWTIEIT Hlevere] LBBIGHTUI LD([HEH SO 60T
C. gieumpey B 0OHSHSHI HBDIGUT LOWID
D. uevBpre@ Ml WwhHHIeDm60T

A B C D

[\

e

SMTehFILTLD
B (hev6TTETh]

&

a 1 3 4 2
b. 3 4 2 1
c. 4 3 2 1
d 3 4 1 2
e. alewL Gxflwalsvenso

The Tamil Nadu Rice Research Institute (TRRI) working under Tamil Nadu

Agricultural University is situated in District.
a. Thanjavur b. Dindugal c. Salam
d. Thirunelveli e. Answer not known

SODBTH Geuenmemwt LeLBMeVDS HWHHHe (TNAU) S OFweou B aumbd SWODBTH OCbed
oymiFd Bimeuend (TRRI) emig o eitengy?

a. HehImelT b. FHewiBeme0 c. Ggeuld

d. HmOpeGeauad e. alewL Oxflueisoenev

Tamraparni is a perennial river that originates from the of the western Ghats.
a. Agastyar Koodam Peak of Pothigai hills b. Siva Gnana teertha

c. Varusanadu hills d. Thenpennai e. Answer not known

STOTUTent  6T6ILIGI o FFuled GuBE OCFHTLTFF wemeouled o (HAUTGHD &H
QUBBTS BSIWTGSLD.

a. 9IBVHUWT Gl SHFeO QUTHENS 1DEM6L b. deuepren HyHsHId

C. QUBHIFHTH LDDEVSHE d. Ozer6LiexwTenemT e. alewL Gz fluialsvensv

Which is considered as the greatest blame on human living by Valluvar?

a. Transient life b. Life without progeny c. Infamous life
d. Life without love e. Answer not known

weld UMPSHmBEGFW LPOWeTs 6u6TEHeaT e1Hemerids GBS ey ?

a. HeveowilBs eITpe)] b. sl Bup BeveoTs aumpe| C. UMM eUTDe)]
d. 9@uBs ey e. alowL Ozfuialsdamen

What will wipe away the wealth of the ruler?

a. Anger of the wicked  b. Incessant Rain c. Gifts given to flatterers
d. Unbearable tears of the oppressed e. Answer not known
6TCaumflelT QFeLUHMHH CHUISGD LemL 617

a. GameGureny @mISHH6e0 b. @evevna eumend GLILIED

C. UsphIHThEGD CaThdalIuB ufls d. suBpra s sHemtenty

e. alewL OFFfwaleveneo

Tamil Nadu transgender Welfare Board comes under which department?
a. Health and Family Welfare Department

b. Adidravidar and Tribal Welfare Department

c. Welfare of Differently abled person Department

d. Social Welfare and Women Empowerment Department

e. Answer not known
F(HHmIMS HevaUTluibd LleTalheuaTeuBmIeT 6hHdh SHlewmuller S GFweoLbBSBE?
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FHTHMID OBWID GBWU [HevSHHIEnH
SHHSTAILT BGID LILBIGIQUIETT BeoSSIens
LOTBBISHSHBEITEN BT [HEVSHSHIMM

Felpsd [Hevet BMID &6l Gobum (B&genm
alemL  OFflwailsoenev

P o

100. A niggard hand, o’ erweening self-regard and mirth unseemly bring disgrace to men of
kingly birth. What is he meaning of the word ‘kingly birth” mentioned in the above

verse?
a. God b. King c. Superior
d. Nobles e. Answer not known

“®eumeIld LOTERILIBHS LOTET(LPLD  LOT6HIT

2 AMmBULD FHD BenBHE

As@mefled GUILLIBL ‘Bewm’ eleTLGHeT CUTHET

a. Benmeveit b. sppFen C. 2 WJhHeUes
d. Guweitodseit e. alewL Oxflueaisoensv
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